LR T A AT e FE

B S

e CKS[[13-16|CKS[]3-20| CKS[[13-25|CKS[13-32| CKS[13-40| CKS[[13-50| CKS[13-63| CKS[13-80|CKS[13-100| CKS[13-125
L Zmm 16 20 25 32 40 50 63 80 100 125
# AR =5

EHEHEE 0.2~0.6PMa | 0.1~0.6MPa

NERMRERE -10~+60C

EERE +0.01mm

EEMERE 120 c.p.m | 60 c.p.m 30c.p.m

248 TEE

FIERR RIER

) AN MEEE 14 14 42 74 118 187 335 500 750 1270
S 12 T HE 16 28 47 82 130 204 359 525 780 1320
HE: RERFETE 4 4 6 8 8 12 16 20 24 32
KATERFIETEMM 10 10 12 16 20 28 32 40 48 64
EEOR M3x0.5 M5x0.8 1/8 1/4 3/8
T R B A E

) EEIMERBIER S, 016-0250 R SEEL=20mm, ©32-0631FHAEEL=30mm, 80~ 12543 # & 585 L=500mmAf HEE

ER&ES HMERTAE HEMETF R
i g | 24
FRER - KITIER MHS 3-[32]D-| |-[M9N s |1t
* N
I i T 2\ n4
7 - P
I xiae [wan ke WiER B
L [wriem 16 | 1Em:
20 20mm
25 | 25mm WM XRES
ok voia:)
MRS 32 | 32mm | TR

t * 40 | 40mm | [mine|maxe TRE| (WE#F )
#T4Z(mm)|16 - 20 - 25 |32 - 40 - 50 - 63 - 80| 100 + 125 50 | 50mm
CKS3 MON Y59A 63 | 63mm & |EamS “HEFRESE,

B |#EgE&E M S &K E
CKSL3 M9B Y598 80 | 80mm . = xigE-2m, L-3m, Z-5m
100 | 100mm RS #l: Y59BL
125 | 125mm| | D | #HEESHEARKER
IERSTE (ZX)
CKS3-16~25D , OWAR15
22.
6-M3x0.54 50/ TB — AA
e q AB Qs
(HMFERFET) cB 7
- EEORZ: P
S % Q —-Q (ST )
E) = & o
e 3 =
] 9 8lg ]
N4 EE =
B KlE -
== ¢ VB
‘i’c -gv—e—l G EEOR: P
L NA,| L (SEE )
S P.CDR (Z%7) -
3-OSAEFLFHINFL OSBIRSC

P.C.D:R (&%7l)

E:UR= AMA | AB | B [ CB | DC | DO | EC|EO | FX | FY | FZ | G | J K | NA NB o P Q|R
CKS3-16D | 35 | 32 | 30 | 11 | 15 | 17 5 7 |125| 11 25 | 4 10 | 4 8 [5h9%m | 2 | M3X0.5 | 6 |25
CKS3-20D | 38 | 35 | 36 | 13 | 18 | 20 6 145 | 13 27 | 5 12 | 5 10 | 6h9%us | 2.5 | M5X0.8 | 7 |29
CKS3-25D | 40 | 37 | 42 | 15 | 21 | 24 7 10 | 17 |145| 5 | 28 | 5 14 6 12 | 6h9%0 | 3 | M5X0.8 | 8 |34

BE SA | sSB | sc | TB UA uB VA VB WA XA XB
CKS3-16D | 3.4 | 6.5 | 8 5 M3X0.5 45 | 2H9®™ 2 17H9:50% 2H9%"0 2
CKS3-20D | 3.4 | 6.5 | 95 | 6 M3X0.5 6 2HQ*3 21H9 % 2H9%"0 2
CKS3-25D | 4.5 | 8 10 6 M4X0.7 3H97" 3 26H9:3% 3H9% 3

FAREFHFES R HEERE



CKS3-32D~80D

22.5;
<« AA OVARVB
6-TAIBSIRTB AG{«—AB CB_CA
WmFEREXRBL 535 56 BEEOR: P
’/ S \{ E % _!U-;" '_!'-'Ei —= (ST )
BSP B BIE KE i m
%g g1 = °
L N, B
H o —:I — —
B MY
NA| | G BEORZ: P
3-DSAEIL % FL OSBESC P.C.D.R(Z##27l) (S )

P.C.D.R(Z¥7L)

Be AA | AB| AC | B |CA |CB |DC |DO|EC|EO | FX|FY |Fz| G I J K L M | NA | NB
CKS3-32D | 44 | 41 | 3 | 52 | 8 16 | 28 | 32 | 8 | 12 | 22 [195| 5 [305| 6 | 20 | 9 | 2H9*%%% | 2 | 14 | 8h9 {.css
CKS3-40D | 47 | 44 | 3 | 62 9 17 | 31 | 35 | 10 | 14 |26.5|23.5| 6 3 7 | 21 9 | 3H9'%95 | 2 | 16 | 8h95 0z
CKS3-50D | 55 | 52 | 3 | 70 | 9 20 | 35 | 41 | 11 | 17 | 31 | 28 | 6 [375| 9 | 24 | 10 | 4H9'Q™ 2 | 18 |10h9%
CKS3-63D | 66 | 62 4 86 | 12 | 22 | 43 | 51 | 15 | 23 | 38 |345| 7 44 | 11 | 28 | 11 | 6H9*)% 3 | 24 [12n9) ..
CKS3-80D | 82 | 77 | 5 [106 [13.5 | 27 |53.5|63.5(21.5(31.5|47.5(435( 8 | 56 | 12 | 32 | 12 | 8H9+%% | 4 | 28 |14h9% .

e 0 P Q | R |SA| SB|sC TA B UA uB VA VB | WA WB | XA XB | YC
CKS3-32D | 4.5 | M5x0.8 | 11 | 44 | 45 | 8 9 |M4x0.7| 8 |M4x0.7| 6 3H9 %% | 3 | 34H9'Y% | 2 | 3H9'Y**® | 3 6
CKS3-40D | 4.5 | M5%x0.8 | 12 | 53 | 55 [ 9.5 | 9 |M4x0.7| 8 [M5x0.8| 7.5 | 4H9'G® | 4 | 42H9'4% | 2 | 4H9*}*™® | 4 8
CKS3-50D | 5 |M5x0.8| 14 | 62 | 55 | 9.5 | 12 [M5x0.8| 10 |M5x0.8| 10 | 4H9*}%° | 4 | 52H9*G”* | 2 | 4H9*G®® | 4 | 7
CKS3-63D | 5.5 | M5x0.8 | 17 | 76 | 6.6 | 11 | 14 |M5x0.8| 10 | M6x1 | 9 5H9'G%%° | 5 | 65H9*G* | 2.5 | 5H9*%0 | 5 | 7.5
CKS3-80D | 6 | Rc1/8 | 20 | 95 | 6.6 | 11 | 19 | M6x1 | 12 | M6x1 | 12 | 6H9*9%® | 6 | 82H9'G*" | 3 | 6H9*}% | 6 8
CKS3-100D~125D

2.5,
6-TABRSRTB &8 :
WmFiE%E AR AG.. AB 2% owaEws —_
BEOR: P
oo - (fSETFF )
w (W
&|&E
KIE B m L/
e & 4
o 218 5 1l
% Eg_{x \= S
FyE Y
- M’I(—
lle G N\JEEOR: P

30SAE LN FL OSBIRSC P.C.D.R(&#27L) ( B=ATER )

P.C.D.R(Z#7L)

e AA | AB |AC | B [CA|CB|DC |DO |EC |EO |FX |FY |FZ | G I J K L M | NA | NB

IN

CKS3-100D| 96 | 90 6 [134 | 18 [30.6| 66 | 78 | 28 | 40 | 59 | 54 | 10 | 63 | 15 | 38 | 15 | 8H9'}"® 34 | 18h9°% 448
CKS3-125D| 122 | 114 | 8 | 166 |23.5| 38 | 82 | 98 | 30 | 46 | 74 | 68 | 12 | 84 | 18 | 52 | 21 | 10H9'}™ | 6 | 40 | 22h9° ..»

s o P Q | R |SA | SB | sC TA TB| UA |UB| VA VB | WA wB XA XB
CKS3-100D| 7.5 | Rc1/4 | 23 (118 | 9 | 14 | 21 |M8x1.25| 16 [M8x1.25| 16 | 8H9 *20% | 6 | 102H9'} | 4 8Hg *,0%
CKS3-125D(10.5 | Rc3/8 | 31 | 148 | 11 [17.5| 34 |M10x1.5| 20 |M10x1.5| 20 | 10H9+00% | 8 | 130H9*}'® | 6 10H9"§%

FAREFNERET M BESGRE



